Math 4a. Homework 14. A
schosl 6

1. Write in decimal notation the following fractions:

24 375 29 47 7 999 99
10’ 100’ 1000’ 100° 1000’ 10° 1000’ 100
1 3 2 7 18 23

2”4 5 20’ 2550

2. Write the coordinates of the marked points:

9
a. 0’

b.

a t + + +- + + t + + + + t t
7 8 9
b t + -
0.2 0.3
C i g cegee ooy — +—+ -
0.5 0.6 0.7
d + *- + t + —+ + .
0.4 0.5 0.6
e . -
0.2 0.3 0.4 0.5
3. Compare:
0.756 0.76; 0.12345 0.0102030405;
3.4208 3.4028; 0.32032032 0.321;
4.0986 4.1; 2.57043566 2.57034566666;
12.576 9.99999; 777777777 777777777,

4. Fill empty spaces with missing digits to get the wright expressions:

[]7.0e[] [Na..7[]1 3.[]5[]8 2 1] 2[]s o[]
tT5.900 P i[2s] 920740 9 s.05[]27
3[] 4[4 2 1. Jra 4.029[]2 6.[]25[]3

a)

5. 6000 people live in three villages altogether. In the first village there are twice as
many inhabitants as in the second village and in the third village the number of

inhabitants is 500 less than in the first one. How many people live in each
village?




6. The fourth grade is going on a school trip. Every student had to bring in $64 for the trip
to cover all costs. Unfortunately, 3 students could not participate on the trip. Therefore,
every student who went on the trip had to bring in $4 more so those who did not go

could get their money back. How many students went on the trip?

7. Connect the fractions in increasing order, as shown:

Example:
%‘ ol 3
\.l 1 2 .E
8 —e
3 1 i
1a e ’ 52
3 S S | 1
\ 6 1
5 7
1 1 e
o — 8
2 s 5
0 6
L .3 S E% 8
10 8 6 2
8. Evaluate:

1 3
g+l i_l 1_1 - 4 -
3 6, 100 10, 6. 2 4

3 " ’ Bge L -
2




